Review - Polynomials Name /Q\T\%\J\JQY
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Simplify each expression.
1) (8p*=3pY)+(2=p?) 2) (362 +7) + (567 - 5)

- 4p* T2 | Sbi+ 2

3) (6 - 4x*) - (8 + 3x%)

-

5) The dimensions of two rectangles are
shown at the right.

Find the polynomial representing:
a) the perlmeter of the large rectangle;
b) the ?gnmeter g; the small rectangle;

Pt o)
¢) the sum of? he perimeters;

d) the difference getween the perimeters.
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é) Find the polynomial representing
the perimeter shown at the right.
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If the perimeter of the trapezoid
shown at the right is expressed
(22y +'6) cm, identify the missing -
polynomial.

(By+ 1) cm

(2y) cm
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Simplify. Your answer should contain only positive exponents.
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Find each product.
7) 7(4a - 8)

280 - D\
9) —2(-7p* +4p-17)
: \4?2'89-& \4
11) —m%(4m® = Tm + 2)

= "}mgi- "lmL A’

13) (7x - 3)(-2x + 4)
“\4x? 134 -1

15) (k- 8)(—6k+ 4)
- o \/\9.1 K-

17) (~4m — 6n)(6m + 4n)

- WS MmN - 240

19) (—Sx - 4y)(5x + 6y)

-5t - 50-13 *Q‘-hjq'

21) (~2a + 6b)(-6a + 4b)
Dat-Y4da t4h "

2) 3x*.5x . 8x
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120 X

4) 4x* - 2x*
. (3
£ x
6) 2v- Tv - 4v°
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8) 4x(7x + 4)
| ng_z +lox
10) 3n(-3n% —n+2)
=90 - 3 +bn
12) —4x*(5x* —8x+7)
-20x* 22 ~> - 2%
14) (-6n+ 7)(7n - 8)

-4A0%+ G - DL

16) (=3r—4)(-7r +2)
v+ 22¢ - &

>

18) (5a - 6b)
(B ~6boYSa - bh)
256 ¢ - 30ul - 30ako T3
2562 - (Oak + DD -

20) (—x - y)(-8x - 8y)

§x* +loxy £y

22) (5x—2y)(8x+5y)
I’-l—OXQ-taI XY -—l(.’)_\jl'



Simplify. Your answer should contain only positive exponents.
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Qﬁ) Find the quotient for each division.
a) (22 + 4x) + 2x b) 3ab — 6a2b?) + 3ab c) (12xy— 4y +8y9) + 4y
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3))  Simplify. @x ‘\‘
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3;)) Find the polynomial corresponding t‘o -"'*)'(J + 2x2,



?)5) Given that A represents the area, identify the missing polynomial in each case.
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